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B.A.-12/BSC-12
(Bachelor of Art/Science) Geography

Second Year Examination-2014
GE-05
Human Geography

Time Allowed : Three Hours

Maximum Marks : 30

Note : This paper is of thirty (30) marks divided into
three (03) sections. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given
therein.

T : 9% UIE-UT 19 (30) ARl T S A (03) @S
T fawfaa 1 forenfdal’ s = @l ¥ fag g
farqqa Pl & AR € UE @ 5 HO B
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Section - A (QUS-F)
(Long answer type Questions) / ( &f& I AT Ue )

Note : Section 'A' contains four (04) long-answer-type
questions of 72 marks each. Learners are
required to answer any two (02) questions
only. (2x7%2=15)

e : s ‘® F AR (04) GF I AT A fEU MU
&, U U9 & Torw 7y 3fe Traifta & | forenffa

W T W haet o U o ST A € |
1. Discuss the meaning and scope of Human
Geography.
e T & 31 we fom &5 i fog=m wifs)
2. Evaluate in detail the contribution of Ratzel or

Brunes in the development of Geography.
e o foentd # o5a S1era 1 & AeH o faeqa
e whifey |

3. Write a detailed account of the factors affecting the

growth and development of urban centres.

TR St I SR T W Y9 S a1e R
HH-2 ¥ ¢ ? fawr @ fafew |

4. Describe the habitat, economy and society of 'Bhils'.

i o o A T, Stefegewen qen grHISeh
S R 999 HifSC |
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Section - B (@US-9@)

(Short answer type Questions) / ( 79 IT AT U9 )

Note : Section 'B' contains eight (08) short-answer-type

&)

questions of 22 marks each. Learners are
required to answer any four (04) questions

only. (4x2%=10)

: Wg @' W WS (08) Y S e uvd few g

&, Wk wee o T 244 3fen Trerifia & 1 Rrenfiat
H T W RS TR YA h I

What is 'Stop and Go' determinism ?

“Tenl SR we’ fEfaa @ # 2

Explain the term 'Areal Differentiation'.
EEIRREERINCI i tez CH IS L

Discuss the pattrns of Rural Settlements in Brief.
Tt il & gfaedl i Wag H ==l ST |
Describe the factors affecting distribution of

population.

TEE & faaor i gaifad s 9 SRR H
U I |
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Explain the difference between 'shifting cultivation'

and 'sedentary primitive agriculture'.
‘TR Rt qe  TArlt Hft’ % SRR Sl IR
Write a Geographical note on 'Eskimos'.

“tferrl A W TR e oe fafe |
What is meant by 'cultural Landscap' ?

et qgv’ @ A § 2

What is the 'MigrationZone Theory' of Race

evolution ?

et TRt o1 ‘vam Sicay’ fagr o1 ¢ ?

Section - C / @9

(Objective type Questions) / ( TS TIT )

Note : Section 'C' contains ten (10) objective-type

e

questions of 2 mark each. All the questions of
this section are compulsory. (10x32=5)

s v ¥ I| (10) g R fEu o §,
T w9 & fow 1 3 freifa & i sw Ee &
Tt gy sfard &
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Choose corret alternative.

et faeeT =+ |

1.

XS]

Who among the following is known as the founder
of Human Geography ?

(a) Ratzel (b)  Blache

() Humboldt (d)  Ritter
frrefafed o ford ama spier Geerre el S 22
(31) Yo () =

(9) wwHEe (0 =

"Man is the product of the earth's surface”. Whom
this statement is attributed to ?

(@)  Ritzel (b)  Miss Semple
() Brunhes (d)  Huntington
‘e qTd 1 Sue ® |7 98 U fede ® 2
(31) Yo () AR FrgA
(/) I () =femed

In how many volumes Ratzel's book'
Anthropogeographic' was published ?

(a) Three (b) Two

(c) Five (d)  Twelve

Ee S W | TSR fhdd @vel § g
|

(s1) (@ =

&

() U= (87) d@R®
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4, Who is known as the founder of 'Possibilism' ?

(a) Ratzel (b)  Brunhes
(c) Blache (d)  Ritter
“oeqeEr’ wt fOERET W Heerwsh fRH A
ST @ ?
(31) oo (@) I
(®) = (7)) =

5. Which of the following is a primitive form of

agriculture ?

(a) Sedentary agriculture

(b) Subsistence agriculture

() Shifting agriculture

(d) Mixed farming

frrefafed & @ weia v fafy o9 & € 2

(1) Tl iy (9)  TIHART BN
(W) ifeerr iy (7) fufwd =
6. In which concept of geography has man been

considered as a powerful agent of change ?
(a) Environmental Determinism

(b)  Possibilism

() New Determinism

(d) probabilism
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T i Fohd fo=mEm & 9g =1 9Rewdd =1 gad
R A T ® 2

(1) amaER fvee (F)  HEEeR
(@) 74 feeree () FEeeE

"Nagas' are associated in which occupation :
(a) Hunting

(b) Hunting and Zhoom cultivation

(c) Food gathering

(d) Pasturalism

T qeTa: fRE orEEE W §E g € ?

(1) oTEE (%) ST 71 gH HfY
(§) TR (2) IR

Where in India do the Santhal tribals live in ?

(a) Jharkhand (b) J&K

(c) Gujrat (d)  Pumab

Gorret St wd o fRg T ¥ frerg et @ 2
(31) TRETS (9) g 3R TR
(9) TR (2 o

Bushman lives in :

(a) Kalahari desert
(b) Sahara desert

(c) Gobi desert

(d) Australian desert
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e Framg w €
(31) HARR 76EId H
(9) W weEd |
(§) & H Aeed o
() ofeed weeee |

10. Settlement more than million population is called :
(a) Town (b)  Megalopolis
(c) City (d)  Metropolis

<9 A § Afyen ererdl st afeEl i we S
3

(1) = (9)  Heife
(7)) TR (%) Hemiferd

X
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